RO

Datasheet
19-inch Front Panel, 3U, 6hp, Grey, Aluminium

RS Stock number 500-702

STANDARD TYPE 3U CONTENTS OF KIT
KMS-EC COMPATIBLE
[tem Description Material
@ Comprehensive range of widths 1 Front panel 2 5mmg ALMg3 %4 hd
2 Handle: Luranyle 2452(1,
® Two versions black
3 Ident label 1,5mmg A1Mg3 ¥ hd
® Supplied in kit or bulk pack form 4 Screw M2, 5x 16
§ Screw M2, 5x7
@ Conform to IEC 297-3 and DIN 41494 6 Special screw M2.5
7 Mut M2,5
Version 1 has anodised front and inner faces. The 8 Shakeproof washer M2,5
method of manufacture can produce two cut edges 9 Retaining insert.  See Text
which will not be visible in normal use. Version 1 Assembly instructions
panelds can be identified by their 957 prefic. Material
grainis horizontal and the kitincludes plasticretaining g
inserts as standard. These inserls can be replaced =
with a metal type - please see page 4.56for details. - I'K -
T ) f,ﬂ
Version 2 has an anodised front face and a L] '.:a b
chromated, conductive inner face for grounding - A
purposes. Suppliad with metal retaining insers as
standard. Veersion 2 panels are prefiied with 953
Bulk packing
Subject to minimum quantities, we can supply front
paned kits in bulk, offering savings in packaging and
unpacking time. Please spacify BULK PACK' when 7
ardering.
Order separately: - A o
Card mounting brackets Page 4.52 74— ﬁf -~ A ——]
o]
1T
Slimline extruded handles Page 4.47 34
g 3 3.9 1084
Screws, bushes Page 4.58
T — £ 5
74— — [ T4
@ =Denotes minimum order quantity, please contact _
our sales offica. P = ident sight hole B ——




3U KM8- FRONT PANELS

Ordering information

v
Panel Dlirm ' DM ‘B Order code Order code
widih WERSION 1 VERSION 2
3HP 148 - G57-235347A 953-235335G 0 |
4HP 148 - 857-235348K 953-235336E
5HP 250 - 857-235349H 953-235339K
& HP 30,1 - 857-235351K 9532353400
7HP 352 - 857-235352H 953-235341A @
8HP 40,2 . 957-235353F 953-235342K
SHP 453 - 857-235354D 953-2353T6D @
10 HP 50,4 356 857-2353558 953-235343H @
12 HP B0,6 457 957-235356L 953-235344F @
14 HP 70.7 55,0 957-235357) 953-235450 @ |
21 HP 106.3 o4 957-235358G 953-235146B @
24 HP 1215 106.7 957-235359E =
&2 HP 2130 1981 957-235360. -
84 HP 4283 4115 957-236085F* -
* This item has no handles
STANDARD TYPE 6U CONTENTS OF KIT
KMB-EC COMPATIBLE
ltem Description Material
@ Comprehensive rangs of widths 1 Front panel 2,5mmg ALMg3 % hd
2 Handle Luranyls 24521,
® Two versions black
3 Ident label 1, 5mmg A1Mg3 % hd
@ Supplied in kit or bulk pack form 4 Screw M2, 5 x 16
5 Screw M2, 5x T
@ Conform to IEC 297-3 and DIN 41404 6 Special screw M2,5
7 MUt M2.5
Version 1 has anodised front and inner faces. The 8 Shakeproof washer M2,5
method of manufacture can produce two cut edges 9 Retaining insert.  See Text

which will not be visible in normal use. Version 1
panels can be identified by their 857 prefix. Material
grainiis horizontal and the kitincludes plastic retaining
inserts as standard. These inserts can be replaced
with a metal type - please see page 4.56 for details.

Version 2 has an anodised front face and a
chromated, conductive inner face for grounding
purposas. Supplied with metal retaining insers as
standard. Version 2 panels are prefixed with 953.

Bulk packing

Subject to minimurm quantities, we can supply front
panel kits in bulk,, offering savings in packaging and
unpacking time. Please specify 'BULK PACK' when
ordering.

Order separately:
Card mounting brackets Page 4.52

Slimline extruded handles Page 4.47

Screws, bushes Page 4.56

@ =Denotes minimum order quantity, please contact
our sales office.

Assembly instructions

KM6-11 FRONT PANELS

ol B
==l -
=
g o
= Hat
T r




RO

6U KME-T FRONT PANELS

Ordering information

6U
Panel Dim ‘A’ DIM ‘8" Order code Order code
width VERSION 1 VERSION 2
3HP 14.8 - - -
4HP 19.9 - 957-235459A 953-235442F @ |
5HP 250 - 957-235460E -
& HP 30,1 . 957-235461C 9532354448 @ |
THP 352 - 957-235462A -
8HP 402 - 957-235463K 953-235446)@ |
g HP 453 - - -
10 HP 504 356 957-235465F -
12HP 60,6 457 957-235466D 953-235449C @
14 HP 0.7 55,9 957-2354678 -
21HP 106.3 914 - -
4 HP 1215 106.7 957-235465J -
42 HP 2130 198.1 957-2354708 -
84 HP 4263 4115 957-236073G -

* This item has no handles




